RO AR

I - '
EHE S 6 R (P EE RS AR AT
BB | BERSED
2. RHIE
1) BB | | HEIBBE Rk
2) BeswRW %4 BB B S 08 4A 1B
| | = 4 64128208
3) WeEHHH
4) EHBNE _ o :
KEBE, IJITH DRI D, KB ORRRIE EBE X
Foo MISEE ORI ETORBTH B, ‘ R

T R | EEEE PERSEHR



R
| | o i%i- AN
| *HA A0 6 4R B 0P| B S AR A S : S ' ER RBER
SR | : | E H TRBEEE=y Y Y
HE - T - &Ehl B fr - KB & B T MR AR T '
twHEBEE=sU Y - 1 2,801, 000 | ~ '
tWBBREE=—y Y = 1 2, 801, 000
TR BB 1 380, 200 | BRHEERE
B o | 1 E=0
BRSSO
. - 1 =
| BT
, , I R
R BBLH i 1 1,709, 200 | BRI R E ,
| ‘ , 1 %
BIHIBEER SR
‘ o 1 =
M o
: ‘ - 1 Y
EGEA (RRRE) = -1 474,400 | BMAIBEERRE
S : ! D
Bkt |
E&RR (EERR) = bl 237,200 | EBME R
: n o ‘ _ 1 =
ATiEM S RENE »
‘ ' 1 X
| ERRE = 1 7,020, 479 |
| EEEE = 1 7,020,479 |
a2 C R . - 5,261,400 | HeaziEk ,
_ . | : : L ExY
BRTHFR o 1 50,000 | BATHR
A . _ : , 1 = |
— 1 —

ELREE  PEHAERHR



~

 HERRE
, _ . o HoA VNS .
EHL | 46 FELEFIMEEESBRNES - B a o xE | EES
o | o _ : H H | B
HH - T - A R B E EX R IR
CHPEmRE - = L 50,000 | HehrEmRE
, , 1 =
R £y 1 352, 279 | HEBSEER o
. , 3 . 1 £
S E R 1 1, 306, 800 | 53472 |
, | 1 R
CE = 1 9, 821, 479
PR El 1 5, 728, 521
R Bl 1 5, 728, 521
| vt s s i X 1 15, 550, 000
I R A S B 8, 603, 000
- EE G SR E 1 8,603, 000
FEEd % 1 112,000 | sHmEm |
' : 1 Y
TREBEE=SY > s 1 2,652 200 | tBBBEE=S) Y
BREREDEED |
. : | - 1 R
BOKHE % B L I RE B SR = 1 1,202,000 | BUKBEEEM L 72 REBH FR
& ) ‘ D) . ’ ' 1 ﬁ
Lol EXERUEEZ el I 1,410, 800 | HFREBOMEIC L 5 W HERA
| | \ | P - | 4
TR T 5 B LR ROBT > ) 1 1,927,000 | FHRBICH T HBE LR BORT
:/J(,)l/&%‘ﬂ- . | ) 7\/‘\")]/@5:} . ' I it
B RHIIRRME R = I 866, 800 | ML BB EEHERR .
, . _ : | _1 %
<2-  EASSEE REMEH



HERRE
; o _1§i N i B
%4 %%uesm%%@mmﬁ%&jiﬁmﬁ%ﬁ o : 2 16 pEt
, - 3 5 | EHEH | WEEESERE
~ HH - ILfE- #Ej : ﬁﬁ ¥ E & 3 IR
WEEIER ‘ ko 1 432,200 | MEBER -
, 1 R
It = 5 718, 700 ‘
KB (RERH) = 1 127, 200
N LT = 1 127,200 | ZAPAARASSFRR
| | B - - : I %1%
i (WE - SEED) S 1 591, 500
Tee% x| 1 591,500 | fT&®
| | ‘ \ 1 - ®
HEGR - S 1 302, 893
EiERE = 1 302, 893
RETEE R I 138,893 | % (REl L - B
. BTRERIERE R 1 164,000 | BT REBMERE
: - : 1 =
BRI (2 OMBmR<) = 1 "9, 624, 593 |
BT X 1 5,019, 735
—REERS % 1 7,885, 672
| i R 1 22, 530, 000
EH % T 38, 080, 000
-3 - ELRES REAS R



